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5 A Hhig
O~14% |15~64m] 65mLLE £t O0~145% |15~64i%| 65mLLE &t
E: 9,912 51,070 22,567 83,549 ] 2,507 12,898 6,280 21,685
s 9,430 52,625 30,856 92,911 = 2,456 14,171 8,919 25,546
it 19,342] 103,695 53,423] 176,460 =t 4,963 27,069 15,199 47,231
B 11.0% 58.8% 30.3% 100.0% AL 10.5% 57.3% 32.2% 100.0%
EEAOIESH 70.2 - DNEEE 74.5
- INSE T 18.7 EINSECE 18.3
ZEANOEHR 51.5 EEANOEH 56.1
ZELIBEH 276.2 ZEILIEE 306.2
s 84,823 =3 23,259
Eits his R R J5k
O0~14%% | 15~645%| 65m Ll E £t O0~14%% | 15~645%| 65 LA E Hi
E] 1,302 6,752 3,529 11,583 3] 2,002 9,828 4,496 16,326
=S 1,206 7,088 4,775 13,069 = 1,838 9,916 6,228 17,982
&t 2,508 13,840 8,304 24,652 it 3,840 19,744 10,724 34,308
R 10.2% 56.1% 33.7% 100.0% HERCLE 11.2% 57.5% 31.3% 100.0%
- PNEEE 78.1 DN 73.8
D INSECE 18.1 L PNEEE 19.4
E-INSET 60.0 EEANOEHK 54.3
ZELIEH 331.1 EFLIEH 279.3
T 11,502 T 16,220
K ithis F B hig
O0~14%% |15~645| 65m Ll E &t O0~14%% | 15~64%%| 66mLLE £t
E:] 2,716 14,216 5,138 22,070 ] 1,385 7,376 3,124 11,885
S 2,623 13,941 6,806 23,370 = 1,307 7,509 4128 12,944
Hi 5,339 28,157 11,944 45,440 it 2,692 14,885 7,252 24,829
R 11.7% 62.0% 26.3% 100.0% R 10.8% 60.0% 29.2% 100.0%
HEAOES 61.4 EEAOEH 66.8
L INNE T 19.0 L ONNE T 18.1
ZEANOER 42.4 EEANOEH 48.7
ZEIEHR 223.7 EZELIEH 269.4
5 22,378 =% 11,464
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65 E --EFEAO (C)

ERAOEH=A+C)-BXx100
FELANOEH=A-Bx100
ZEAOEH=C+-Bx%x100
BELIEH =C+-AXx100
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